HENEREREES i
SHISE6H198 (H)

$:550) (847 : kg)
EES G b B = = 1B Z 1B " =
S 238 RAIS 1,578.1 33
T 1,100.7 245 33
THI 9,359.8 44 35
£S5 511.2 666 409
JUH LA 261.6 740 20
LSHLA 357.4 483 20
TFELSHLA 532.4 900 101
ZRHLA 381.7 311 20
IALA 255.4 669 151
TaHLA 57.7 1,100 159
FAALY 2,679.7 1,080 350
<7Fd 83.1 1,298 669
SCat 74.2 645 109
FHA 38.5 319 51
TYUAVTAFA 72.9 81 20
F7> 07 3,055.4 111 31
HFHS 399.9 60 40
FYIA UL 28.9 669 289
FAFA 63.7 1,000 33
A F AF 40.0 4,559 2,619 [ "
ALY 91.5 6,190 125
Ve INY = 13.5| 32,396 | 19,850 |1
it 21,037.3




[f¥fa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =

S 23% JESHAA 191.8 43 21
< koS 215.7 250 22
AXHI5T 42.2 909 20
IYRSERF 20.0 515 51
ZILAA T3 1,167.6 610 221
ZILAA FI%E 400.0 4,053 1,811 [oo 5"
TUAH 73.5 1,259 296
> RUA 7 22.7 666 300
vFEST 3,984.3 909 50
AFF<3 1,046.9 1,500 600

CHE 28,202.0




[f¥fa] (BT ¢ kg )

PEE S =V e B E = fE 7 fE " &
BEEXRE 1478|N7> 310.9 309 30
@sZAN 147.5 400 30
Y 268.2 180 69
ESX 2,020.8 709 100
AAZHLA 33.0 1,300 300
JOH LA 51.0 643 20
VAN 364.7 196 139
2OoF 561.5 229 20
XA 56.3 666 311
FIA 28.0 295 36
7> 946.1 120 30
HFH>S 26.0 36 21
>0OX/)Ulb 73.7 1,370 500
Ho> 206.2 2,000 1,380
RAXF 490.7 1,230 570
dEZHAN 60.8 61 30
FFIA 1,850.3 2,600 819
RORD 53.7 493 289
NdF 168.5 1,219 101
N bS5 A 75.6 250 70
Bt 8% Ry FHA 2,344.5 600 300
ne 12€ ESWYXSZ 23.9 559 269
INGHERE 10,161.9




[f¥fa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
he 12& EXTVRS 263.7 239 120
REE 41% 7HU 1,723.2 600

D
[ =]

1§ 12,148.8




[(&£) (BT ¢ kg )
JRETELE =V n = /[E] B &
K 232 <73 164.1 1,700
EEXNRIFE 14725 X 5,233.7 800
1A LA 75.1 1,100
<AL A 21.1 6,000
I5A 37.4 800
XXF 267.4 1,600
JIF 97.3 1,300
#}D 4& E=5X 56.6 1,000
ho 18 <73 21.0 1,500
ho 128 <A 380.8 1,600

T2

6,354.5




